
PRZEKŁĄdniE ŚLiMAKOWE SERii BOX



VISIT and know moTIVe ThankS To The moVIe on www.moTIVe.IT



spis tresci



2



33



44

1h 2h 3h 4h

100

90

80

70

60

50

40

30

20

10

i= 100

i= 40

i= 7,5



5

 i 7,5 10 15 20 25 30 40 50 60 80 100  

 B
O

X
 1

5
0

  
B

O
X

 1
3

0
  

B
O

X
 1

1
0

  
B

O
X

 0
9

0
  

B
O

X
 0

7
5

  
B

O
X

 0
6

3
  

B
O

X
 0

5
0

  
B

O
X

 0
4

0
  

B
O

X
 0

3
0

  
B

O
X

 0
2

5 3
24

16° 41' 57''
1,5

63,89 Nm
85,90%
71,75%

4
30

18° 48' 58''
1,44

84,41 Nm
82,00%
65,42%

4
30

24° 28' 25''
2

198,24 Nm
87,30%
71,24%

4
30

23° 57' 45''
2,5

352,59 Nm
89,00%
70,80%

4
30

25° 50' 36''
3

644,41 Nm
89,10%
71,89%

4
30

26° 38' 16''
4

1268,82 Nm
91,00%
72,60%

4
30

29° 11' 11''
4,5

2017,81 Nm
91,30%
74,05%

4
30

28° 14' 32''
6

4344,98 Nm
92,40%
73,92%

4
30

29° 14' 56''
7

6876,02 Nm
90,00%
72,00%

6
30

32° 54' 19''
5,5

4411,41 Nm
90,00%
72,00%

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs 

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs 

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs 

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs 

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs 

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs 

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs 

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs 

Z1
Z2
β
mx

Cr [Nm]
hd (1400)

hs

3
30

16° 41' 57''
1,25

52,18 Nm
83,20%
68,16%

3
30

14° 20' 8''
1,44

82,46 Nm
80,70%
62,00%

3
30

18° 50' 51''
1,5

107,24 Nm
85,30%
67,24%

3
30

18° 26' 6''
2

217,36 Nm
87,50%
67,15%

3
30

19° 57' 51''
2,5

428,50 Nm
88,60%
68,23%

3
30

20° 36' 57''
3

681,60 Nm
89,60%
69,24%

3
30

22° 43' 48''
3,5

1155,41 Nm
89,90%
70,71%

3
30

21° 56' 32''
4,5

2321,25 Nm
91,20%
70,71%

3
30

22° 46' 57''
7

6507,03 Nm
86,00%
66,67%

4
30

25° 29' 51''
6,2

5214,29 Nm
86,00%
66,67%

2
30

11° 18' 36''
1,25

51,17 Nm
78,00%
60,23%

2
30

9° 40' 7''
1,44

81,05 Nm
72,60%
51,86%

2
30

12° 49' 17''
2

185,05 Nm
81,00%
59,27%

2
30

12° 31' 43''
2,5

330,06 Nm
81,80%
58,86%

2
30

13° 36' 49''
3

596,72 Nm
82,40%
59,57%

2
30

14° 4' 5''
3,75

1027,63 Nm
85,20%
61,14%

2
30

15° 36' 15''
5

2258,08 Nm
88,20%
65,64%

2
30

15° 1' 59''
6

3963,38 Nm
88,40%
64,76%

2
30

15° 38' 32''
7

6230,10 Nm
84,00%
61,53%

3
30

17° 55' 41''
5,5

3892,70 Nm
84,00%
61,53% 

2
38

9° 27' 44''
1

47,45 Nm
75,90%
56,67%

2
40

7° 42' 13''
1,10

67,95 Nm
72,00%
47,33%

2
40

10° 29' 51''
1,5

128,51 Nm
78,00%
53,87%

2
40

10° 18' 17''
2

285,40 Nm
80,20%
55,84%

2
40

10° 53' 8''
2,5

595,72 Nm
81,80%
55,54%

2
40

11° 18' 36''
3

859,08 Nm
83,50%
58,04%

2
40

13° 1' 15''
3,5

1412,23 Nm
84,10%
60,07%

2
40

14° 48' 14''
4,5

2646,64 Nm
86,10%
62,80%

2
40

13° 47' 27''
5,4

4496,63 Nm
83,00%
60,54%

2
40

13° 24' 45''
6,2

7027,85 Nm
83,00%
60,54%

 

2
50

5° 42' 38''
1,75

226,03 Nm
68,00%
39,27%

2
50

8° 45' 5''
2,5

464,41 Nm
75,00%
50,18%

2
50

8° 35' 51''
1,5

208,90 Nm
75,20%
50,46%

2
50

8° 44' 46''
2

495,36 Nm
79,70%
52,11%

2
50

10° 18' 18''
2,5

777,54 Nm
81,90%
54,26%

2
50

11° 18' 36''
3

1235,76 Nm
83,50%
57,02%

2
50

12° 59' 41''
3,5

1846,57 Nm
83,80%
58,86%

2
50

11° 53' 34''
4,37

3583,10 Nm
81,00%
56,89%

2
50

11° 18' 36''
5

5617,08 Nm
81,00%
56,89%

1
30

5° 42' 38''
1,25

50,55 Nm
65,30%
44,83%

2
30

4° 52' 9''
1,44

80,18 Nm
62,00%
34,68%

1
30

6° 29' 31''
2

181,60 Nm
69,70%
44,81%

1
30

6° 20' 25''
2,5

324,18 Nm
70,60%
43,14%

1
30

6° 30' 20''
3

583,72 Nm
73,00%
43,97%

1
30

7° 8' 51''
3,75

1004,61 Nm
75,80%
45,88%

1
30

7° 56' 58''
5

2195,95 Nm
80,80%
50,76%

1
30

7° 38' 54''
6

3862,09 Nm
81,00%
49,22%

1
30

7° 58' 11''
7

6057,87 Nm
79,00%
48,00%

2
30

9° 55' 34''
4,2

1961,79 Nm
79,00%
48,00%

1
38

4° 45' 49''
1

46,96 Nm
62,50%
41,33%

1
40

3° 52' 10''
1,10

67,49 Nm
55,00%
31,74%

1
40

5° 17' 36''
1,5

126,90 Nm
65,00%
38,77%

1
40

5° 11' 40''
2

281,96 Nm
68,30%
39,76%

1
40

5° 29' 32''
2,5

587,70 Nm
70,60%
40,34%

1
40

5° 42' 38''
3

846,60 Nm
73,80%
43,05%

1
40

6° 35' 44''
3,5

1385,09 Nm
74,00%
44,40%

1
40

7° 31' 39''
4,5

2581,03 Nm
77,20%
47,51%

1
40

6° 59' 48''
5,4

4399,77 Nm
75,00%
46,15%

1
40

6° 47' 58''
6,2

6884,59 Nm
75,00%
46,15%

1
47

3° 41' 29''
0,8

34,48 Nm
54,80%
34,01%

1
50

3°15' 37''
0,90

59,58 Nm
52,00%
25,65%

1
50

4° 24' 5''
1,25

115,09 Nm
62,00%
35,07%

1
50

4° 24' 5''
1,5

207,16 Nm
61,30%
34,06%

1
50

4° 23' 55''
2

491,05 Nm
67,50%
36,82%

1
50

5° 11' 40''
2,5

768,15 Nm
70,70%
38,94%

1
50

5° 42' 38''
3

1217,80 Nm
73,10%
41,63%

1
50

6° 34' 55''
3,5

1811,22 Nm
73,50%
43,12%

1
50

6° 0' 40''
4,37

3525,58 Nm
72,00%
42,24%

1
50

5° 42' 38''
5

5535,47 Nm
72,00%
42,24%

1
60

2° 27' 15''
0,6

32,07 Nm
53,80%
33,26%

1
60

2° 13' 37''
0,70

44,59 Nm
46,00%
25,89%

1
60

3° 47' 4''
1

91,13 Nm
56,00%
29,90%

1
60

3° 41' 53''
1,25

166,11 Nm
57,90%
31,40%

1
60

3° 56' 43''
1,75

395,47 Nm
64,50%
34,33%

1
60

4° 20' 31''
2

516,79 Nm
65,50%
35,27%

1
60

4° 45' 49''
2,5

1045,59 Nm
69,60%
38,33%

1
60

5° 48' 8''
3

1645,28 Nm
72,00%
40,20%

1
60

5° 16' 6''
3,67

2870,01 Nm
70,00%
39,09%

1
60

5° 0' 2''
4,2

4562,35 Nm
70,00%
39,09%

 

1
80

2° 6' 36''
0,56

46,39 Nm
40,00%
19,60%

1
80

2° 56' 9''
0,75

59,48 Nm
50,00%
25,95%

1
80

2° 51' 45''
1

148,02 Nm
52,80%
26,90%

1
80

3° 5' 17''
1,25

280,91 Nm
57,90%
28,44%

1
80

3° 24' 42''
1,5

404,64 Nm
59,00%
28,52%

1
80

3° 52' 55''
1,75

648,29 Nm
61,40%
31,19%

1
80

4° 27' 28''
2,25

1179,69 Nm
66,00%
34,93%

1
80

4° 23' 55''
2,75

1922,30 Nm
65,00%
34,40%

1
80

4° 9' 35''
3,2

3469,44 Nm
65,00%
34,40%

 

 

1
100

2° 28' 53''
0,65

56,58 Nm
0,485

24,77%
1

100
2° 17' 26''

0,75
105,45 Nm

46,00%
21,12%

1
100

2° 26' 1''
1

227,67 Nm
51,10%
24,05%

1
100

2° 51' 45''
1,25

355,85 Nm
56,50%
26,71%

1
100

3° 7' 20''
1,5

603,00 Nm
59,00%
28,00%

1
100

3° 52' 55''
1,85

1101,56 Nm
63,00%
31,80%

1
100

3° 34' 35''
2,75

2433,21 Nm
62,00%
31,29%

1
100

3° 37' 43''
2,6

2900,18 Nm
62,00%
31,29%

β > 20°
10° < β < 20°
8° < β < 10°
5° < β < 8°

3° < β < 5°
1° < β < 3°



6

B
O

X
0
2
5

S
TA

D
IO

-6
3

B
O

X
0
3
0

S
TA

D
IO

-7
1

B
O

X
0
4
0

S
TA

D
IO

-8
0

B
O

X
0
5
0

S
TA

D
IO

-9
0

B
O

X
0
6
3

B
O

X
0
7
5

B
O

X
0
9
0

B
O

X
1
1
0

B
O

X
1
3
0

B
O

X
1
5
0

-25°C ÷ +50°C
ISO VG320

TELIUM VSF320
OMALA S4 320
GLYGOYLE 320

 ALPHASYN PG320
ENERGOL SG-XP320

0,16        0,25               0,28 
 

    
T°C     -25°C ÷ +50°C    
ISO VG…    ISO VG320    
AGIP     TELIUM VSF320   
SHELL    OMALA S4 320   
MOBIL    GLYGOYLE 320    
CASTROL             ALPHASYN PG320   
BP            ENERGOL SG-XP320   

B3,V5
          
B6,B7 

0,02 0,04 0,08 0,15 0,30 0,55 1,00
 

B8,V6           
                    

-5°C ÷ +40°C
ISO VG460
BLASIA 460

OMALA OIL460
MOBILGEAR 634
ALPHA MAX 460

ENERGOL GR-XP460

 3  4,5 7 

 2,2  3,3 5,1



7

 B3 B8 

 B6 B7 

 V5 V6

 B3 B8 B6

 V5 V6 B7



8

c 

b 

a 

tab. 2



9

BOX025

BOX030

BOX030+BOX063

BOX025

BOX030

BOX040

BOX050

BOX040+BOX090

BOX040+BOX075

BOX030+BOX050

BOX030+BOX063

BOX050+BOX110

373,3
280,0
186,7
186,7
140,0
140,0
93,3
93,3
70,0
70,0
56,0
46,7
35,0

373,3
280,0
186,7
186,7
140,0
140,0
112,0
93,3
93,3
70,0
70,0
56,0
56,0
46,7
46,7
35,0
35,0
28,0
23,3
4,70
3,50
2,80
2,30
1,90
1,60
1,60
1,20
0,93

2,0
2,6
3,6
4,0
4,7
5,1
6,0
7,2
7,7
9,3
8,4
12,0
15,3
1,9
2,5
3,3
3,8
4,2
5,0
4,8
5,3
6,7
7,7
6,6
8,5
9,5
9,0
10,6
9,0
13,1
14,0
18,0
112,6
139,9
151,8
172,1
177,9
232,2
258,7
342,1
341,6

7,5
10
15
7,5
20
10
30
15
40
20
50
30
40
7,5
10
15
7,5
20
10
25
30
15
40
20
25
50
60
30
80
40
50
60
300
400
500
600
750
900
900
1200
1500

3,9
3,4
2,4
2,8
1,9
2,4
1,3
1,6
1,1
1,3
0,9
1,1
0,9
6,5
5,0
3,5
4,6
2,5
3,6
2,8
2,3
2,5
1,7
2,0
2,0
1,4
1,1
1,7
0,9
1,2
1,0
0,9
0,8
1,2
1,0
0,9
0,8
0,7
1,0
0,9
0,7

56A-2
56A-2
56A-2
56B-4
56A-2
56B-4
56A-2
56B-4
56A-2
56B-4
56A-2
56B-4
56B-4
56A-2
56A-2
56A-2
56B-4
56A-2
56B-4
56A-2
56A-2
56B-4
56A-2
56B-4
56B-4
56A-2
56A-2
56B-4
56A-2
56B-4
56B-4
56B-4
56B-4
56B-4
56B-4
56B-4
56B-4
56B-4
56B-4
56B-4
56B-4

BOX030+BOX040

BOX030+BOX050

373,3
280,0
186,7
140,0
93,3
70,0
186,7
140,0
93,3
70,0
56,0
46,7
35,0
46,7
35,0
28,0
23,3
23,3
17,5
14,0
4,7
3,5
2,8
2,8
2,3
1,9
1,6
1,2
0,8
0,6
0,4
0,5
0,3

2,9
3,7
5,2
6,7
8,7
11,1
5,5
7,2
9,7
12,3
13,8
15,4
19,0
18,5
22,3
26,8
28,8
30,8
37,5
39,9
151,6
195,5
219,3
241,5
276,9
278,7
423,4
543,7
774,3
910,7
1526,0
1183,1
1711,9

7,5
10
15
20
30
40
7,5
10
15
20
25
30
40
30
40
50
60
60
80
100
300
400
500
500
600
750
900
1200
1800
2400
4000
3000
5000

3,0
2,6
1,8
1,4
1,0
0,8
3,4
2,7
1,9
1,5
1,5
1,3
0,9
2,6
1,9
1,5
1,3
2,3
1,9
1,4
1,2
0,9
0,7
1,3
1,1
0,9
1,2
0,9
0,9
1,7
1,0
1,2
0,8

56B-2
56B-2
56B-2
56B-2
56B-2
56B-2
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4
63A-4

p1  0,09 kW p1  0,13 kW

 n2  M2

 [rpm]  [Nm] 
fs i

  
 n2  M2

 [rpm]  [Nm] 
fs i

  
   

BOX030

BOX040

BOX050

BOX040+BOX090

BOX040+BOX075

BOX030+BOX063

BOX050+BOX110

373,3
280,0
186,7
186,7
140,0
140,0
112,0
93,3
93,3
70,0
70,0
56,0
46,7
93,3
70,0
70,0
56,0
56,0
46,7
45,0
35,0
36,0
30,0
28,0
22,5
46,7
35,0
35,0
28,0
28,0
23,3
17,5
18,0
14,0
15,0
11,3
4,7
3,5
2,8
3,5
2,3
1,9
1,6
1,2
0,9
0,8
0,6

3,8
5,0
6,7
7,6
9,9
8,5
9,5

10,6
13,4
13,1
17,0
19,1
21,3
12,8
15,5
18,8
18,5
22,7
25,7
29,2
30,9
35,2
39,9
37,1
48,1
21,3
25,9
33,5
27,6
37,6
42,7
51,9
58,5
55,3
66,4
80,7

217,0
279,8
334,4
279,8
411,6
454,2
586,2
799,8
938,4

1123,4
1372,9

3,2
2,5
1,7
2,3
1,8
1,3
1,4
1,1
1,3
0,9
1,0
1,0
0,8
2,4
1,8
2,0
1,4
1,7
1,7
1,5
1,3
1,3
1,3
1,0
1,0
2,1
1,5
2,3
1,2
1,9
1,6
1,2
1,4
0,9
1,1
0,9
1,1
1,0
0,8
0,8
1,1
0,9
0,8
1,0
0,8
1,5
1,1

63A-2
63A-2
63A-2
63B-4
63B-4
63A-2
63A-2
63A-2
63B-4
63A-2
63B-4
63B-4
63B-4
63A-2
63A-2
63B-4
63A-2
63B-4
63B-4
71A-6
63B-4
71A-6
71A-6
63B-4
71A-6
63A-2
63A-2
63B-4
63A-2
63B-4
63B-4
63B-4
71A-6
63B-4
71A-6
71A-6
63B-4
63B-4
63B-4
63B-4
63B-4
63B-4
63B-4
63B-4
63B-4
63B-4
63B-4

7,5
10
15
7,5
10
20
25
30
15
40
20
25
30
30
40
20
50
25
30
20
40
25
30
50
40
60
80
40

100
50
60
80
50

100
60
80

300
400
500
400
600
750
900

1200
1500
1800
2400

p1  0,18 kW

 n2  M2

 [rpm]  [Nm] 
fs i

  



10

BOX030

BOX050

BOX040+BOX090

BOX040+BOX075

BOX030+BOX063

BOX050+BOX110

BOX063+BOX130

BOX063

BOX040

373,3
280,0
186,7
140,0
112,0
93,3

186,7
140,0
120,0
93,3
90,0
70,0
60,0
56,0
46,7
45,0
35,0
36,0
30,0
70,0
56,0
46,7
45,0
35,0
35,0
28,0
36,0
30,0
28,0
23,3
22,5
18,0
15,0
28,0
23,3
17,5
18,0
14,0
15,0
11,3
9,0
7,0
5,6
3,5
2,8
2,3
1,9
1,6
1,2
0,9
0,8
0,6
0,5

5,3
6,9
9,3
11,8
13,2
14,8
11,2
14,5
17,4
20,7
22,6
26,1
32,2
31,5
35,7
40,5
43,0
48,9
55,5
27,4
32,1
36,1
39,9
36,0
46,6
38,4
49,9
56,2
52,3
59,2
72,5
81,3
92,2
57,6
66,0
79,0
89,5
87,1
102,7
122,9
135,6
194,3
232,2
439,4
511,9
621,7
658,7
865,2
1181,6
1318,2
1554,2
1624,0
1548,0

2,3
1,8
1,3
0,9
1,0
0,8
3,6
2,8
2,6
1,9
2,0
1,5
1,4
1,2
1,3
1,1
0,9
0,9
0,9
2,7
2,2
2,3
1,9
1,1
1,7
0,8
1,5
1,7
1,4
1,1
1,2
1,0
0,8
2,4
2,0
1,6
1,8
1,4
1,5
1,2
1,0
1,4
1,2
1,1
0,8
1,2
0,9
0,8
1,3
1,2
1,1
1,0
1,0

63B-2
63B-2
63B-2
63B-2
63B-2
63B-2
71A-4
71A-4
71B-6
71A-4
71B-6
71A-4
71B-6
71A-4
71A-4
71B-6
71A-4
71B-6
71B-6
71A-4
71A-4
71A-4
71B-6
63B-2
71A-4
63B-2
71B-6
71B-6
71A-4
71A-4
71B-6
71B-6
71B-6
71A-4
71A-4
71A-4
71B-6
71A-4
71B-6
71B-6
71B-6
63B-2
63B-2
71A-4
71A-4
71A-4
71A-4
71A-4
71A-4
71A-4
71A-4
71A-4
71A-4

BOX050

BOX040+BOX090

BOX040+BOX075

BOX050+BOX110

BOX063+BOX130

BOX063

BOX040

BOX075

373,3
280,0
186,7
186,7
140,0
140,0
112,0
93,3
70,0
56,0
46,7
140,0
112,0
120,0
93,3
93,3
90,0
70,0
70,0
56,0
60,0
56,0
46,7
46,7
45,0
35,0
35,0
36,0
30,0
28,0
45,0
35,0
36,0
30,0
28,0
23,3
22,5
17,5
18,0
14,0
15,0
18,0
15,0
11,3
9,0
4,7
3,5
4,7
3,5
2,8
2,3
1,9
1,6
1,2
0,9
0,8

8,3
10,8
15,3
16,5
21,5
19,3
23,3
30,7
38,6
46,6
52,8
22,1
23,7
26,2
26,7
31,0
34,4
34,5
40,5
38,7
48,2
47,4
43,8
53,5
63,0
53,3
69,0
71,2
83,2
77,4
64,2
71,3
78,2
85,2
85,2
97,7
110,9
116,9
132,5
129,0
151,9
138,8
154,3
185,3
221,8
489,5
635,5
521,8
637,2
786,8
898,9
1061,4
1642,5
1748,8
1674,0
1698,0

3,3
2,6
1,9
2,4
1,9
1,4
1,1
1,3
1,0
0,8
0,8
3,3
2,0
3,3
2,2
2,4
2,5
1,6
1,8
1,2
1,8
1,5
1,0
1,5
1,3
0,7
1,1
1,0
1,1
0,9
2,4
2,1
1,9
2,1
1,6
1,4
1,6
1,1
1,2
0,9
1,0
1,8
1,5
1,2
1,0
1,0
0,7
1,5
1,2
0,9
0,8
1,3
1,2
0,8
1,0
1,0

71A-2
71A-2
71A-2
71B-4
71B-4
71A-2
71A-2
71B-4
71B-4
71B-4
71B-4
71B-4
71A-2
80A-6
71A-2
71B-4
80A-6
71A-2
71B-4
71A-2
80A-6
71B-4
71A-2
71B-4
80A-6
71A-2
71B-4
80A-6
80A-6
71B-4
80A-6
71B-4
80A-6
80A-6
71B-4
71B-4
80A-6
71B-4
80A-6
71B-4
80A-6
80A-6
80A-6
80A-6
80A-6
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4

7,5
10
15
20
25
30
7,5
10
7,5
15
10
20
15
25
30
20
40
25
30
20
25
30
20
80
40
100
25
30
50
60
40
50
60
50
60
80
50
100
60
80
100
400
500
400
500
600
750
900
1200
1500
1800
2400
3000

7,5
10
15
7,5
10
20
25
15
20
25
30
10
25
7,5
30
15
10
40
20
50
15
25
60
30
20
80
40
25
30
50
20
40
25
30
50
60
40
80
50
100
60
50
60
80
100
300
400
300
400
500
600
750
900
1200
1500
1800

BOX040

BOX050

BOX063

BOX075

BOX090

BOX110

BOX040+BOX090

BOX050+BOX110

BOX063+BOX130

373,3
280,0
186,7
140,0
112,0
186,7
140,0
140,0
112,0
120,0
93,3
93,3
90,0
70,0
70,0
56,0
60,0
56,0
46,7
46,7
45,0
70,0
70,0
56,0
60,0
56,0
46,7
46,7
45,0
35,0
35,0
28,0
36,0
30,0
28,0
23,3
22,5
35,0
30,0
28,0
23,3
22,5
17,5
18,0
15,0
17,5
18,0
14,0
15,0
11,3
9,0

17,5
14,0
11,3
9,0
9,3
7,0
5,6
4,7
3,5
2,8
2,3
1,9
1,2

12,3
16,0
22,8
28,7
34,6
25,0
30,1
32,8
35,3
39,0
39,7
46,0
51,1
51,2
60,2
57,5
71,6
70,5
65,2
79,5
93,6
53,0
61,4
63,3
72,1
74,8
72,6
81,4
95,5
86,9

106,0
95,9

116,3
126,6
126,6
145,2
164,8
110,8
132,7
132,6
147,4
172,3
177,1
206,3
229,4
184,3
213,3
221,4
243,7
286,7
344,3
195,1
234,9
303,5
365,3
363,8
473,6
584,8
797,7

1013,7
1198,1
1390,5
1567,6
1705,0

2,2
1,8
1,3
0,9
0,8
2,9
1,7
2,2
1,4
2,2
1,5
1,6
1,7
1,1
1,2
0,8
1,2
1,0
0,7
1,0
0,9
1,9
2,2
1,5
2,2
1,8
1,2
1,9
1,6
0,9
1,4
0,7
1,3
1,4
1,1
0,9
1,1
2,0
2,0
1,6
1,4
1,5
1,1
1,2
1,0
1,5
2,0
1,2
1,6
1,1
0,9
2,6
2,0
1,9
1,5
2,0
1,5
1,2
2,0
1,4
1,1
1,0
0,9
1,0

71B-2
71B-2
71B-2
71B-2
71B-2
80A-4
71B-2
80A-4
71B-2
80B-6
71B-2
80A-4
80B-6
71B-2
80A-4
71B-2
80B-6
80A-4
71B-2
80A-4
80B-6
71B-2
80A-4
71B-2
80B-6
80A-4
71B-2
80A-4
80B-6
71B-2
80A-4
71B-2
80B-6
80B-6
80A-4
80A-4
80B-6
80A-4
80B-6
80A-4
80A-4
80B-6
80A-4
80B-6
80B-6
80A-4
80B-6
80A-4
80B-6
80B-6
80B-6
80A-4
80A-4
80B-6
80B-6
71B-2
71B-2
71B-2
80A-4
80A-4
80A-4
80A-4
80A-4
80A-4

7,5
10
15
20
25
7,5
20
10
25
7,5
30
15
10
40
20
50
15
25
60
30
20
40
20
50
15
25
60
30
20
80
40

100
25
30
50
60
40
40
30
50
60
40
80
50
60
80
50

100
60
80

100
80

100
80

100
300
400
500
300
400
500
600
750

1200

p1  0,25 kW p1  0,37 kW

 n2  M2

 [rpm]  [Nm] 
fs i

  
 n2  M2

 [rpm]  [Nm] 
fs i

  

    p1  0,55 kW
  n2  M2

 [rpm]  [Nm] 
fs i

  



11

BOX050+BOX110

BOX063+BOX130

BOX050

BOX063

BOX075

BOX040+BOX090

BOX090

BOX110

BOX050+BOX110

BOX063

BOX075

BOX090

BOX110

BOX050
373,3
280,0
186,7
186,7
140,0
140,0
112,0
93,3
93,3
70,0

140,0
112,0
120,0
93,3
93,3
90,0
70,0
70,0
56,0
60,0
56,0
46,7
46,7
45,0
35,0
36,0
30,0
60,0
56,0
46,7
46,7
45,0
35,0
36,0
28,0
30,0
28,0
23,3
22,5
35,0
28,0
30,0
28,0
23,3
22,5
17,5
18,0
14,0
15,0
17,5
14,0
15,0
11,3
9,0

7,00
5,60
9,33
7,00
5,60
4,67
3,50
2,30
1,90
1,60

17,1
22,4
31,4
34,1
41,0
44,8
48,1
54,2
62,8
82,1
41,8
51,0
53,2
55,5
63,2
70,5
72,2
83,7
86,3
98,4
101,9
99,0
111,0
130,2
144,5
158,6
172,6
101,7
104,8
100,5
116,3
132,9
151,0
162,9
144,5
181,0
180,9
201,1
234,9
125,7
150,9
192,9
187,0
213,6
235,6
251,3
290,9
301,8
332,3
266,0
320,3
337,1
413,8
498,2
645,9
797,5
543,3
691,2
822,5
1087,7
1378,7
1631
1804
1826

3,0
2,4
1,7
2,1
1,3
1,6
1,0
1,1
1,2
0,9
2,3
1,8
2,9
2,0
2,2
2,3
1,4
1,6
1,1
1,6
1,3
0,9
1,4
1,2
1,0
0,9
1,0
2,4
2,0
1,3
2,0
1,9
1,5
1,4
0,8
1,5
1,2
1,0
1,1
1,6
1,2
2,6
1,8
1,5
1,8
1,1
1,4
0,9
1,1
1,9
1,5
2,1
1,4
1,1
1,1
0,9
2,8
2,1
1,6
1,5
1,1
1,0
1,0
1,0

80A-2
80A-2
80A-2
80B-4
80A-2
80B-4
80A-2
80A-2
80B-4
80B-4
80A-2
80A-2
90S-6
80A-2
80B-4
90S-6
80A-2
80B-4
80A-2
90S-6
80B-4
80A-2
80B-4
90S-6
80B-4
90S-6
90S-6
90S-6
80B-4
80A-2
80B-4
90S-6
80B-4
90S-6
80A-2
90S-6
80B-4
80B-4
90S-6
80A-2
80A-2
90S-6
80B-4
80B-4
90S-6
80B-4
90S-6
80B-4
90S-6
80B-4
80B-4
90S-6
90S-6
90S-6
80A-2
80A-2
80A-2
80A-2
80A-2
80B-4
80B-4
80B-4
80B-4
80B-4

373,3
280,0
186,7
140,0
186,7
186,7
140,0
140,0
120,0
112,0
93,3
93,3
90,0
70,0
70,0
60,0
56,0
46,7
45,0
112,0
93,3
93,3
90,0
70,0
70,0
56,0
60,0
56,0
46,7
46,7
45,0
35,0
36,0
30,0
35,0
35,0
36,0
28,0
30,0
28,0
23,3
22,5
18,0
15,0
28,0
23,3
22,5
17,5
18,0
14,0
15,0
11,3
9,33
7,00
5,60
17,5
14,0
11,3
9,0
4,7
3,5
2,8

25,0
32,8
46,0
60,2
46,4
50,1
61,4
66,5
78,0
74,8
81,4
92,7
103,4
106,0
122,8
144,3
149,5
162,8
191,0
76,8
85,3
95,9
104,6
110,8
125,3
132,6
149,2
153,6
147,4
170,6
194,9
221,5
239,0
265,4
184,3
222,1
243,7
221,4
282,9
274,3
313,3
345,5
426,6
430,0
275,8
317,9
360,4
390,2
429,0
469,7
494,4
607,0
796,9
1013,7
1206,4
390,2
465,2
607,0
723,7
1312
1519
1629

2,1
1,6
1,2
0,9
2,1
2,6
1,6
2,0
2,0
1,2
1,4
1,5
1,5
1,0
1,1
1,1
0,9
1,0
0,8
1,9
1,9
2,1
2,3
1,4
1,7
1,1
1,6
1,3
0,9
1,3
1,3
1,0
1,0
1,0
1,1
1,6
1,6
0,8
1,8
1,3
1,0
1,2
1,0
0,8
2,3
1,9
2,3
1,3
1,8
1,0
1,4
1,0
1,9
1,4
1,1
2,1
1,5
1,4
1,1
1,2
1,0
1,0

80B-2
80B-2
80B-2
80B-2
80B-2
90S-4
80B-2
90S-4
90L-6
80B-2
80B-2
90S-4
90L-6
80B-2
90S-4
90L-6
90S-4
90S-4
90L-6
80B-2
80B-2
90S-4
90L-6
80B-2
90S-4
80B-2
90L-6
90S-4
80B-2
90S-4
90L-6
90S-4
90L-6
90L-6
80B-2
90S-4
90L-6
80B-2
90L-6
90S-4
90S-4
90L-6
90L-6
90L-6
90S-4
90S-4
90L-6
90S-4
90L-6
90S-4
90L-6
90L-6
80B-2
80B-2
80B-2
90S-4
90S-4
90L-6
90L-6
90S-4
90S-4
90S-4

BOX130

BOX063+BOX130

7,5
10
15
7,5
20
10
25
30
15
20
20
25
7,5
30
15
10
40
20
50
15
25
60
30
20
40
25
30
15
25
60
30
20
40
25
100
30
50
60
40
80
100
30
50
60
40
80
50
100
60
80
100
60
80
100
400
500
300
400
500
300
400
600
750
900

7,5
10
15
20
15
7,5
20
10
7,5
25
30
15
10
40
20
15
25
30
20
25
30
15
10
40
20
50
15
25
60
30
20
40
25
30
80
40
25
100
30
50
60
40
50
60
50
60
40
80
50
100
60
80
300
400
500
80
100
80
100
300
400
500

    p1  0,75 kW
 

    p1  1,1 kW
  n2  M2

 [rpm]  [Nm] 
fs i

  
 n2  M2

 [rpm]  [Nm] 
fs i

  
   

BOX063+BOX130

BOX063

BOX075

BOX090

BOX110

373,3
280,0
186,7
186,7
140,0
140,0
112,0
93,3
93,3
70,0

280,0
186,7
140,0
140,0
120,0
112,0
93,3
93,3
90,0
70,0
70,0
56,0
60,0
56,0
46,7
46,7
90,0
70,0
56,0
60,0
56,0
46,7
46,7
45,0
35,0
36,0
30,0
28,0
23,3
46,7
45,0
35,0
35,0
36,0
28,0
30,0
28,0
23,3
22,5
17,5
18,0
15,0
22,5
18,0
17,5
15,0
14,0
11,3
4,7

34,2
45,3
63,2
68,4
83,7
90,7

101,9
111,0
126,5
167,4
45,8
65,4
85,4
91,7

108,6
104,8
116,3
130,8
142,6
151,0
170,9
180,9
203,4
209,5
201,1
232,7
143,1
172,1
187,0
210,6
213,6
213,6
248,0
267,7
302,9
332,3
385,8
374,0
427,3
216,7
274,1
266,0
316,0
333,5
320,3
386,8
376,0
433,4
491,5
532,1
584,9
674,2
477,5
573,0
532,1
668,5
634,4
827,7

1789,0

2,7
2,1
1,6
1,9
1,2
1,5
0,9
1,0
1,1
0,8
3,1
2,2
1,7
2,2
2,0
1,4
1,4
1,5
1,7
1,0
1,3
0,8
1,2
1,0
0,7
1,0
2,7
2,1
1,4
2,1
1,6
1,1
1,7
1,5
1,2
1,2
1,3
0,9
0,8
2,0
2,7
1,3
2,2
2,4
1,0
2,3
1,7
1,4
1,7
0,9
1,3
1,1
2,3
1,8
1,5
1,4
1,1
1,1
1,0

90S-2
90S-2
90S-2
90L-4
90S-2
90L-4
90S-2
90S-2
90L-4
90L-4
90S-2
90S-2
90S-2
90L-4

100LA-6
90S-2
90S-2
90L-4

100LA-6
90S-2
90L-4
90S-2

100LA-6
90L-4
90S-2
90L-4

100LA-6
90L-4
90S-2

100LA-6
90L-4
90S-2
90L-4

100LA-6
90L-4

100LA-6
100LA-6

90L-4
90L-4
90S-2

100LA-6
90S-2
90L-4

100LA-6
90S-2

100LA-6
90L-4
90L-4

100LA-6
90L-4

100LA-6
100LA-6
100LA-6
100LA-6

90L-4
100LA-6

90L-4
100LA-6

90L-4

BOX130

7,5
10
15
7,5
20
10
25
30
15
20
10
15
20
10
7,5
25
30
15
10
40
20
50
15
25
60
30
10
20
50
15
25
60
30
20
40
25
30
50
60
60
20
80
40
25

100
30
50
60
40
80
50
60
40
50
80
60

100
80

300

    p1  1,5 kW

 n2  M2

 [rpm]  [Nm] 
fs i

 
 n2  M2

 [rpm]  [Nm] 
fs i

  



12

BOX075

BOX090

BOX110

BOX063
BOX075

BOX090

BOX110

373,3
280,0
186,7
373,3
280,0
186,7
186,7
140,0
140,0
112,0
93,3
93,3

186,7
140,0
140,0
120,0
112,0
93,3
93,3
90,0
70,0
70,0
56,0
60,0
56,0
46,7
45,0

112,0
93,3
90,0
70,0
70,0
56,0
60,0
56,0
46,7
46,7
45,0
35,0
36,0
30,0
28,0
23,3
36,0
35,0
35,0
30,0
28,0
28,0
23,3
22,5
18,0
17,5
15,0
28,0
23,3
17,5
14,0

50,1
66,5
92,7
51,2
67,2
95,9
102,4
125,3
134,5
153,6
170,6
191,8
102,8
126,2
134,9
159,9
156,6
181,9
198,5
209,9
222,1
252,4
274,3
308,8
313,3
363,8
392,7
157,2
182,3
212,9
231,7
258,4
275,8
309,5
314,4
317,9
364,7
402,0
463,4
489,1
567,3
551,5
635,7
472,7
450,2
390,2
553,3
540,3
465,2
630,3
700,3
840,4
780,4
980,5
540,3
630,3
780,4
930,4

7,5
10
15
7,5
10
15
7,5
20
10
25
30
15
7,5
20
10
7,5
25
30
15
10
40
20
50
15
25
30
20
25
30
10
40
20
50
15
25
60
30
20
40
25
30
50
60
25
40
80
30
50
100
60
40
50
80
60
50
60
80
100

1,8
1,5
1,1
2,5
2,1
1,5
1,8
1,3
1,5
1,0
0,9
1,0
2,9
2,0
2,3
2,2
1,6
1,7
1,9
1,8
1,2
1,4
0,9
1,4
1,1
1,2
1,0
3,1
3,0
3,5
2,1
2,5
1,7
2,6
2,2
1,4
2,0
1,9
1,5
1,6
1,6
1,2
1,0
2,2
2,2
1,3
2,1
1,7
1,0
1,4
1,6
1,2
1,0
1,0
2,5
1,9
1,4
1,0

90L-2
90L-2
90L-2
90L-2
90L-2
90L-2

100LA-4
90L-2

100LA-4
90L-2
90L-2

100LA-4
100LA-4

90L-2
100LA-4
112M-6
90L-2
90L-2

100LA-4
112M-6
90L-2

100LA-4
90L-2

112M-6
100LA-4
100LA-4
112M-6
90L-2
90L-2

112M-6
90L-2

100LA-4
90L-2

112M-6
100LA-4

90L-2
100LA-4
112M-6
100LA-4
112M-6
112M-6
100LA-4
100LA-4
112M-6
100LA-4

90L-2
112M-6
100LA-4

90L-2
100LA-4
112M-6
112M-6
100LA-4
112M-6
100LA-4
100LA-4
100LA-4
100LA-4

373,3
280,0
186,7
140,0
93,3
373,3
280,0
186,7
140,0
93,3
70,0
56,0
46,7
120,0
93,3
90,0
70,0
60,0
56,0
46,7
45,0
35,0
28,0
90,0
60,0
56,0
46,7
45,0
36,0
35,0
30,0
28,0
23,3
22,5
17,5
28,0
23,3
17,5
14,0

69,8
91,7
139,7
183,4
261,5
70,1
92,0
140,1
184,0
270,7
344,2
427,2
496,1
220,6
271,4
290,3
352,4
422,1
428,7
497,3
548,2
631,9
752,1
273,8
401,1
414,4
485,0
528,4
644,6
613,9
754,5
736,7
859,5
955,0
1064,1
736,7
859,5
1064,1
1268,8

7,5
10
7,5
10
15
7,5
10
7,5
10
15
20
25
30
7,5
15
10
20
15
25
30
20
40
50
10
15
25
30
20
25
40
30
50
60
40
80
50
60
80
100

1,9
1,6
1,4
1,1
0,8
3,0
2,6
2,1
1,7
1,4
1,0
0,8
0,9
3,1
2,5
2,5
1,9
1,9
1,6
1,5
1,4
1,1
0,9
3,4
2,6
2,2
2,1
1,9
1,6
1,6
1,6
1,3
1,0
1,2
0,8
1,8
1,4
1,0
0,8

100L-2
100L-2

100LB-4
100LB-4
100LB-4
100L-2
100L-2

100LB-4
100LB-4
100LB-4
100LB-4
100LB-4
100LB-4
132S-6
100LB-4
132S-6
100LB-4
132S-6
100LB-4
100LB-4
132S-6
100LB-4
100LB-4
132S-6
132S-6
100LB-4
100LB-4
132S-6
132S-6
100LB-4
132S-6
100LB-4
100LB-4
132S-6
100LB-4
100LB-4
100LB-4
100LB-4
100LB-4

BOX130

BOX150

BOX130

BOX150

BOX075

BOX090

BOX110

373,3
280,0
186,7
140,0
373,3
280,0
186,7
140,0
93,3
70,0

140,0
120,0
93,3
90,0
70,0
60,0
56,0
46,7

120,0
90,0
60,0
56,0
46,7
45,0
36,0
35,0
28,0
23,3
28,0
23,3
17,5
14,0

93,1
122,2
186,2
244,5
93,4

122,6
186,8
245,3
361,0
458,9
248,8
294,1
361,8
387,1
469,9
562,8
571,6
663,0
286,5
365,0
534,8
552,5
646,7
704,6
859,5
818,6
982,3

1146,0
982,3

1146,0
1418,9
1691,7

7,5
10
7,5
10
7,5
10
7,5
10
15
20
10
7,5
15
10
20
15
25
30
7,5
10
15
25
30
20
25
40
50
60
50
60
80

100

1,4
1,2
1,0
0,8
2,2
1,9
1,6
1,3
1,0
0,8
2,5
2,3
1,9
1,9
1,4
1,4
1,2
1,1
3,1
2,6
2,0
1,6
1,6
1,5
1,2
1,2
1,0
0,8
1,7
1,3
1,0
0,7

112M-2
112M-2
112M-4
112M-4
112M-2
112M-2
112M-4
112M-4
112M-4
112M-4
112M-4
132M-6
112M-4
132M-6
112M-4
132M-6
112M-4
112M-4
132M-6
132M-6
132M-6
112M-4
112M-4
132M-6
132M-6
112M-4
112M-4
112M-4
100LB-4
100LB-4
100LB-4
100LB-4

BOX130

BOX150

    p1  2,2 kW

 n2  M2

 [rpm]  [Nm] 
fs i

 

    p1  3 kW

 n2  M2

 [rpm]  [Nm] 
fs i

  
 n2  M2

 [rpm]  [Nm] 
fs i

  
 n2  M2

 [rpm]  [Nm] 
fs i

  

    p1 4 kW



13

BOX110

BOX130

BOX150

BOX110

186,7
140,0
93,3
70,0

140,0
93,3
70,0
56,0
46,7
35,0
70,0
56,0
46,7
35,0
28,0
23,3

260,0
342,2
497,5
646,1
322,7
472,7
622,8
759,7
889,2
1125,5
622,8
759,7
889,2
1125,5
1350,6
1575,8

7,5
10
15
20
10
15
20
25
30
40
20
25
30
40
50
60

2,2
1,8
1,4
1,0
2,5
1,9
1,4
1,2
1,2
0,9
2,0
1,5
1,3
1,3
1,0
0,8

132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4
132S-4

186,7
140,0
93,3

186,7
140,0
93,3
70,0
56,0
46,7
35,0
70,0
56,0
46,7
35,0

434,9
466,6
678,4
345,3
440,0
644,6
849,3
1036,0
1212,5
1534,8
849,3
1036,0
1212,5
1534,8

7,5
10
15
7,5
10
15
20
25
30
40
20
25
30
40

1,6
1,3
1,0
2,1
1,8
1,4
1,0
0,9
0,8
0,7
1,5
1,1
0,9
1,0

132M-4
132M-4
132M-4
132M-4
132M-4
132M-4
132M-4
132M-4
132M-4
132M-4
132M-4
132M-4
132M-4
132M-4

BOX150

BOX130

BOX110186,7
186,7
140,0
93,3
70,0
56,0
70,0
56,0
46,7
35,0

434,9
423,6
539,7
790,7
1041,8
1270,8
1041,8
1270,8
1487,3
1882,7

7,5
7,5
10
15
20
25
20
25
30
40

1,3
1,8
1,5
1,1
0,8
0,7
1,2
0,9
0,8
0,8

132MB-4
132MB-4
132MB-4
132MB-4
132MB-4
132MB-4
132MB-4
132MB-4
132MB-4
132MB-4

186,7
140,0
93,3
70,0
56,0

506,5
645,3
945,5
1245,6
1519,5

7,5
10
15
20
25

2,3
1,8
1,3
1,0
0,8

160M-4
160M-4
160M-4
160M-4
160M-4

BOX150
186,7
140,0
93,3
70,0

698,0
921,0
1351,0
1760,0

7,5
10
15
20

1,7
1,3
0,9
0,7

160L-4
160L-4
160L-4
160L-4

BOX150

BOX150

BOX130

    p1  5,5 kW

 n2  M2

 [rpm]  [Nm] 
fs i

  

 n2  M2

 [rpm]  [Nm] 
fs i

  

    p1  7,5 kW

 n2  M2

 [rpm]  [Nm] 
fs i

  

    p1  9,2 kW

 n2  M2

 [rpm]  [Nm] 
fs i

  

    p1  11 kW

 n2  M2

 [rpm]  [Nm] 
fs i

  

    p1  15 kW



14



0,13
0,13
0,13
0,13
0,13
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,18
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25
0,25

BOX040
BOX040
BOX040
BOX050
BOX050
BOX040
BOX040
BOX040
BOX040
BOX040
BOX040
BOX040
BOX050
BOX050
BOX050
BOX050
BOX050
BOX050
BOX050
BOX063
BOX063
BOX040
BOX050
BOX050
BOX050
BOX063
BOX063
BOX063
BOX040
BOX050
BOX050
BOX050
BOX050
BOX050
BOX050
BOX050
BOX050
BOX050
BOX050
BOX063
BOX063
BOX063
BOX063
BOX063
BOX063
BOX063
BOX063
BOX075
BOX075

i:50
i:40
i:30
i:80
i:60
i:25
i:30
i:25
i:30
i:40
i:20
i:30
i:60
i:80
i:60
i:50
i:50
i:60
i:40
i:100
i:80
i:20
i:40
i:25
i:30
i:60
i:50
i:40
i:20
i:25
i:40
i:30
i:40
i:20
i:25
i:25
i:30
i:30
i:20
i:80
i:60
i:80
i:50
i:60
i:60
i:50
i:25
i:100
i:80

STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-71
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-63
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71

63A-4
63A-4
63A-4
63A-4
63A-4
63B-4
63B-4
63B-4
63B-4
63A-2
63B-4
63A-2
63B-4
63A-2
63B-4
63B-4
63B-4
63A-2
63B-4
63B-4
63B-4
71A-6
63C-4
63C-4
63C-4
63C-4
63C-4
63C-4
71A-4
71B-6
71A-4
71B-6
71A-4
71B-6
71A-4
71A-4
71A-4
71A-4
71A-4
71A-4
71B-6
71A-4
71B-6
71A-4
71A-4
71A-4
71A-4
71A-4
71A-4

147
117
88

234
176
73
88
73
88

117
59
88

176
234
176
147
147
176
117
293
234
59

117
73
88

176
147
117
59
74

118
88

118
59
74
74
88
88
59

235
176
235
147
176
176
147
74

294
235

9,6
11,9
15,9
6,0
8,0

19,1
15,9
19,1
15,9
23,9
23,9
31,8
8,0

11,9
8,0
9,6
9,6

15,9
11,9
4,8
6,0

15,3
11,9
19,1
15,9
8,0
9,6

11,9
23,8
12,2
11,9
10,2
11,9
15,3
19,0
19,0
15,9
15,9
23,8
6,0
5,1
6,0
6,1
7,9
7,9
9,5

19,0
4,8
6,0

72
60
49

100
83
63
68
66
75
52
55
40

110
86

123
99

112
69
95

151
136
84

118
87

118
159
140
122
78

138
118
156
133
115
86
92
96

107
78

188
265
225
233
182
159
161
89

225
196

0,8
1,0
1,3
1,0
1,2
0,8
0,8
0,9
0,9
0,9
1,0
1,2
0,7
0,8
0,8
0,9
1,0
1,1
1,2
0,8
1,0
0,8
0,9
1,1
1,1
1,0
1,3
1,5
0,8
0,8
0,8
0,9
0,9
1,0
1,0
1,1
1,1
1,2
1,4
0,7
0,8
0,8
0,9
1,0
1,0
1,2
1,8
0,9
1,1

+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+

+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+

15

P1 
[kW]

P1 
[kW]i: i:n2 

[rpm]
n2 

[rpm]
M2 

[Nm]
M2 

[Nm]fs fs

0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,37
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,55
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75
0,75

BOX050
BOX050
BOX050
BOX050
BOX050
BOX050
BOX063
BOX063
BOX063
BOX063
BOX075
BOX075
BOX090
BOX090
BOX063
BOX063
BOX063
BOX063
BOX075
BOX075
BOX050
BOX050
BOx063
BOX063
BOX063
BOX075
BOX075
BOX075
BOX090
BOX090
BOX090
BOX063
BOX063
BOX063
BOX063
BOX075
BOX075
BOX075
BOX075
BOX075
BOX075
BOX090
BOX090
BOX090
BOX110
BOX110
BOX110
BOX110
BOX110
BOX063
BOX063
BOX063
BOX063
BOX075
BOX075
BOX075
BOX075
BOX075
BOX090
BOX090
BOX090
BOX090
BOX110
BOX110
BOX075
BOX090
BOX090
BOX110

i:25
i:30
i:40
i:20
i:25
i:30
i:50
i:50
i:40
i:40
i:60
i:50
i:100
i:80
i:40
i:25
i:30
i:20
i:60
i:50
i:30
i:20
i:50
i:30
i:40
i:40
i:25
i:30
i:60
i:50
i:40
i:20
i:25
i:30
i:20
i:40
i:50
i:50
i:30
i:40
i:40
i:80
i:60
i:50
i:100
i:80
i:100
i:100
i:80
i:20
i:25
i:30
i:20
i:40
i:25           
i:30
i:25
i:30
i:60
i:60
i:80
i:50
i:100
i:80
i:30
i:40
i:30
i:60

STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-71
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-90
STADIO-90
STADIO-90
STADIO-90

71B-4
71B-4
71A-2
71B-4
71A-2
71A-2
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4
71B-4
80A-6
80A-6
80A-6
80A-6
80A-6
80A-6
71B-2
71B-2
71B-2
71C-4
71B-2
71C-4
71C-4
71C-4
71C-4
71C-4
71C-4
80B-6
80A-4
80A-4
80A-4
80B-6
80A-4
80A-4
80B-6
80A-4
80A-4
80A-4
80B-6
80B-6
80B-6
80B-6
80A-4
80A-4
80A-4
80B-4
80A-2
80A-2
80A-2
80B-4
80B-4
80B-4
80B-4
80B-4
80B-4
80B-4
80A-2
80B-4
80B-4
80B-4
90S-6
90S-6
90S-6
90S-6

74
88
118
59
74
88
147
147
118
118
176
147
294
235
120
75
90
60
180
150
88
59
147
88
118
118
74
88
176
147
118
60
75
90
60
120
150
150
90
120
120
240
180
150
300
240
300
300
240
60
75
90
60
120
75
90
75
90
180
180
240
150
300
240
74
98
74
147

19,0
15,9
23,8
23,8
38,1
31,7
9,5
9,5
11,9
11,9
7,9
9,5
4,8
6,0
7,5
12,0
10,0
15,0
5,0
6,0
31,7
47,6
19,0
15,9
23,8
11,9
19,0
15,9
7,9
9,5
11,9
15,0
18,7
15,6
23,3
7,5
9,3
9,3
10,0
11,7
11,7
5,8
5,0
6,0
3,0
3,8
4,7
4,7
5,8
23,3
37,3
31,1
46,7
11,7
18,7
15,6
18,7
15,6
7,8
7,8
11,7
9,3
4,7
5,8
12,2
9,2
12,2
6,1

138
158
107
115
72
84
239
207
181
205
248
218
362
314
300
218
241
176
423
370
124
89
193
214
161
277
200
225
389
347
290
265
215
244
179
467
379
332
376
318
284
556
659
582
994
864
694
597
591
244
153
176
126
432
280
313
300
344
543
623
415
541
947
793
418
543
430
780

0,8
0,8
0,8
0,9
1,0
1,1
0,8
0,8
1,0
1,1
0,9
1,1
0,9
1,1
0,8
1,0
1,1
1,2
0,8
0,9
0,8
0,9
0,8
0,9
1,0
1,0
1,2
1,3
1,0
1,3
1,6
0,8
0,9
1,0
1,1
0,8
0,8
0,8
1,0
1,0
1,0
0,8
0,8
1,0
0,8
1,0
1,0
1,0
1,3
0,8
0,9
1,0
1,2
0,8
0,9
1,0
1,0
1,0
0,7
0,8
0,8
0,9
0,8
0,9
0,8
0,9
1,3
1,1

+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+

+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+

1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,1
1,5
1,5
1,5
1,5
1,5
1,5
1,5
1,5
1,5
1,5
2,2
2,2
2,2
2,2
2,2
2,2
2,2
2,2
2,2
2,2
2,2
2,2
2,2

BOX063
BOX075
BOX075
BOX090
BOX090
BOX090
BOX090
BOX110
BOX110
BOX110
BOX110
BOX130
BOX130
BOX130
BOX130
BOX130
BOX130
BOX130
BOX090
BOX090
BOX090
BOX110
BOX110
BOX110
BOX110
BOX110
BOX130
BOX130
BOX130
BOX090
BOX090
BOX110
BOX110
BOX110
BOX110
BOX110
BOX130
BOX130
BOX130
BOX090
BOX090
BOX110
BOX110
BOX110
BOX110
BOX110
BOX110
BOX110
BOX130
BOX130
BOX130
BOX130

i:20
i:25
i:30
i:50
i:40
i:25
i:30
i:60
i:50
i:40
i:25
i:100
i:80
i:60
i:50
i:40
i:25
i:30
i:25
i:40
i:30
i:80
i:50
i:60
i:40
i:50
i:100
i:80
i:50
i:25
i:30
i:60
i:50
i:60
i:50
i:40
i:80
i:80
i:60
i:25
i:30
i:50
i:40
i:40
i:25
i:30
i:30
i:25
i:50
i:40
i:25
i:30

STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-80
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90
STADIO-90 

80B-2
80B-2
80B-2
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
80C-4
90L-6
90S-4
90L-6
90S-4
90L-6
90S-4
90L-6
90S-4
90S-4
90S-4
90S-4
90L-4
90L-4
90L-4
90L-4
90S-2
90L-4
90L-4
90L-4
90L-4
90L-4
90L-2
90L-2
90L-2

90LB-4
90L-2

90LB-4
90LB-4
90L-2
90L-2

90LB-4
90LB-4
90LB-4
90LB-4

60
75
90

150
120
75
90

180
150
120
75

300
240
180
150
120
75
90
61
98
74

196
123
147
98

123
245
196
123
61
74

147
123
147
123
98

196
196
147
61
74

123
98
98
61
74
74
61

123
98
61
74

46,7
37,3
31,1
9,3

11,7
18,7
15,6
7,8
9,3

11,7
18,7
4,7
5,8
7,8
9,3

11,7
18,7
15,6
14,7
14,3
12,2
7,1
7,3
9,5
9,2

11,4
5,6
7,0

11,2
22,9
19,1
9,5

11,4
19,1
11,4
14,3
7,1
7,1
9,5

45,7
38,1
22,9
14,3
28,6
22,9
19,0
38,1
45,7
11,4
14,3
22,9
19,0

185
229
265
709
594
422
479
851
743
630
439

1193
1045
851
754
630
439
493
555
540
631
838
994
778
828
675

1134
951
595
504
574
948
922
567
827
766

1337
1163
947
382
444
711

1029
591
717
794
449
391

1232
1029
717
805

0,8
1,0
1,0
0,7
0,8
1,0
1,2
0,9
1,2
1,5
2,1
0,8
0,9
1,3
1,6
2,1
2,8
2,8
0,8
0,8
0,9
0,8
0,9
1,0
1,2
1,2
0,8
1,1
1,7
0,8
0,9
0,8
0,9
1,0
1,1
1,1
0,8
0,8
1,1
0,8
0,9
0,9
0,9
1,1
1,2
1,2
1,5
1,6
1,0
1,2
1,7
1,7

+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+

+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+
+

P1 
[kW] i: n2 

[rpm]
M2 

[Nm] fs



16



1717

BOX030

BOX040

BOX050

BOX063

BOX075

BOX090

BOX110

BOX025

BOX130

BOX150

56
56

63

63

71

63

71

80

71

80

90

80

90

100/112

80

90

100/112

90

100/112
132
90

100/112
132

100/112
132
160

B14
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B14
B5
B5
B5
B5
B5
B5
B5
B5

50
50
95
60
95
60
110
70
95
60
110
70
130
80
110
70
130
80
130
95
130
80
130
95
180
110
130
80
130
95
180
110
130
95
180
230
130
180
230
180
230
250

65
65
115
75
115
75
130
85
115
75
130
85
165
100
130
85
165
100
165
115
165
100
165
115
215
130
165
100
165
115
215
130
165
115
215
265
165
215
265
215
265
300

80
80

140
90

140
90

160
105
140
90

160
105
200
120
160
105
200
120
200
140
200
120
200
140
250
160
200
120
200
140
250
160
200
140
250
300
200
250
300
250
300
350

9
9

11

11

14

11

14

19

14

19

24

19

24

28

19

24

28

24

28
38
24
28
38
28
38
42

                i 
         Nm     Mm pm Dm 7,5 10 15 20 25 30 40 50 60 80 100

You can download 2D and 3D drawings from www.motive.it



18

stADiO-63 stADiO-71 stADiO-80 stADiO-90
63B5 71B5 80/90B5
140 160 200

71B14 80B14 100B14
105 120 160

D1 D2 D1 D2 D1 D2 D1 D2
11 14 14 19 19 24 24 28

i i:2,93 i:2,93 i:2,94 i:2,94 i:3 i:3 i:2,45 i:2,45

BOX040

25
30
40
50
60
80
100

BOX050

25
30
40
50
60
80
100

BOX063

25
30
40
50
60
80
100

BOX075

25
30
40
50
60
80
100

BOX090

25
30
40
50
60
80
100

BOX110

25
30
40
50
60
80
100

BOX130

25
30
40
50
60
80
100

STADIO-63 63B5 140 11 71B14 105 11 (IEC63) 14 (IEC71) 43 47

STADIO-71 71B5 160 14 80B14 120 14 (IEC71) 19 (IEC80) 54 55

STADIO-80 80B5 200 19 100B14 (=71B5) 160 19 (IEC80) 24 (IEC90) 66 75

STADIO-90 90B5 200 24 100B14 (=71B5) 160 24 (IEC90) 28 (IEC100) 66 75

P1 D P D1 D2* Y Z



19

 
 
 

 
 
 

                                   
  A C G H I K KE L M N (h8) N1 O P Q R S V W T G1 D (h7) b t B D1 (j6) G2 G3 b1 t1 f Kg 

 BOX025 45 70 45 35 25 34 M6,5 (n°3) 42 55 45 (h9) 22,5 6 - 35,5 48 5 22,5 - 16 50 11 4 12,8 - - - - - - - 0,7
 BOX030 54 80 55 40 30 44 M6x11 (n°4) 56 65 55 29 6,5 75 44 57 5,5 27 - 20 63 14 5 16,3 20 9 51 45 3 10,5 - 1,2
 BOX040 70 101 70 50 40 60 M6x10 (n°4) 71 75 60 36,5 6,5 87 55 71,5 6,5 35 45° 23 78 18 (19) 6 20,8 (21,8) 23 11 60 53 4 12,5 - 2,7
 BOX050 80 121,5 80 60 50 70 M8x10 (n°4) 85 85 70 43,5 8,5 100 64 84 7 40 45° 30 92 25 (24) 8 28,3 (27,3) 30 14 74 64 5 16 M6 3,6
 BOX063 100 147,5 95 72 63 85 M8x14 (n°8) 103 95 80 53 8,5 110 80 102 8 50 45° 40 112 25 (28) 8 28,3 (31,3) 40 19 90 75 6 21,5 M6 7,8
 BOX075 120 174 112,5 86 75 90 M8x14 (n°8) 113 115 95 57 11 140 93 119 10 60 45° 50 120 28 (35) 8 (10) 31,3 (38,3) 50 24 105 90 8 27 M8 9
 BOX090 140 208 129,5 103 90 100 M10x18 (n°8) 130 130 110 67 13 160 102 135 11 70 45° 50 140 35 (38) 10 38,3 (41,3) 50 24 125 108 8 27 M8 13
 BOX110 170 252,5 160 127,5 110 115 M10x18 (n°8) 144 165 130 74 14 200 125 167,5 15 85 45° 60 155 42 12 45,3 60 28 142 135 8 31 M10 38
 BOX130 200 292,5 180 147,5 130 120 M12x21 (n°8) 155 215 180 81 16 250 140 187,5 15,5 100 45° 60 170 45 14 48,8 80 30 162 155 8 33 M10 52
 BOX150 240 340 210 170 150 145 M12x21 (n°8) 185 215 180 96 18 250 180 230 18 120 45° 72,5 200 50 14 53,8 80 35 195 175 10 38 M12 91

BOX + DELBOX + MF BOX + MBBOX 



20

 

  KA KB KC KM KN (h8) KO KP KQ KW KA KB KC KM KN KO KP KQ KW 

 BOX025 45 5 2,5 55 40 6,5 (n°4) 75 70 45° - - - - - - - - -

 BOX030 54,5 6 4 68 50 6,5 (n°4) 80 70 45° - - - - - - - - -

 BOX040 67 7 4 75 60 9 (n°4) 110 95 45° 97 7 4 75 60 9 (n° 4) 110 95 45°

 BOX050 90 9 5 85 70 11 125 110 45° 120 9 5 85 70 11 (n°4) 125 110 45°

 BOX063 82 10 6 150 115 11 180 142 45° 112 10 6 150 115 11 (n°4) 180 142 45°

 BOX075 111 13 6 165 130 14 200 170 45° - - - - - - - - -

 BOX090 111 13 6 175 152 14 210 200 45° - - - - - - - - -

 BOX110 131 15 6 230 170 14 280 260 22,5° - - - - - - - - -

 BOX130 140 15 6 255 180 16 320 290 22,5° - - - - - - - - -

 BOX150 155 15 6 255 180 16 320 290 22,5° - - - - - - - - -

BOX + F/FLBOX + F/FL



21

            

   
 BOX + BOX K i1 i2 G4 

 BOX030+BOX040 122 30 10 201
 BOX030+BOX050 132 30 20 221
 BOX030+BOX063 145 30 63 246
 BOX040+BOX075 167,5 40 35 290
 BOX040+BOX090 184,5 40 50 324
 BOX050+BOX110 226 50 60 397
 BOX063+BOX130 245 63 67 446

      
  K1 G KG KH r 
 BOX025 70 14 17,5 8 15
 BOX030 85 14 24 8 15
 BOX040 100 14 31,5 10 18
 BOX050 100 14 38,5 10 18
 BOX063 150 14 49 10 18
 BOX075 200 25 47,5 20 30
 BOX090 200 25 57,5 20 30
 BOX110 250 30 62 25 35
 BOX130 250 30 69 25 35
 BOX150 250 30 84 25 35

   d (h6) B B1 G1 H L1 f b1 t1 
 BOX025 11 23 25,5 50   8   101 - 4 12,5
 BOX030 14 30 32,5 63 8 128 M6 5 16
 BOX040 18 40 43 78 9 164 M6 6 20,5
 BOX050 25 50 53,5 92 13  199 M10 8 28
 BOX063 25 50 53,5 112 13  219 M10 8 28
 BOX075 28 60 63,5 120 15  247 M10 8 31
 BOX090 35 80 84 140 15  308 M12 10 38
 BOX110 42 80 84,5 155 15  324 M16 12 45
 BOX130 45 80 85 170 15  340 M16 14 48,5
 BOX150 50 82 87 200 15  374 M16 14 53,5

BOX + BOX

BOX + TA

BOX + SOS/DOS



22

21

2

1

4
3 6

5

9

8

7

10

11

12

13

14

15

16

17

18

19

20

 N°   
 1 BOXHOU 
 2 BOXGEA 
 3 BOXSHA 
 4 BOXFLA 
 5 BOXCAP 
 6 BOXB06 
 7 BOXB07 
 8 BOXB08 
 9 BOXB09 
 10 BOXS10
 11 BOXS11
 12 BOXS12
 13 BOXS13
 14 BOXS14
 15 BOXSEE
 16 BOXCOV
 17 BOXBPL
 18 BOXLPL
 19 BOXFPL
 20 BOXN20
 21 BOXN21 



23

5 3

2

1 4

10

7 11
8 9

8

  

7

6

12

9
8

11

10

BOX 25

BOX 30

BOX 40

BOX 50

BOX 63

BOX 75

BOX 90

BOX110

BOX130

BOX150

 61803 6000-2RS 61904 16004 20×32×6 20×42×6 16×24×7

 61904 6002-2RS 6005 6005 25×47×7 25×47×7 20×30×7

 6005 6203-2RS 6006 6006 30×40×7 30×40×7 25×35×7

 6006 6204-2RS 6008-2RS 6008-2RS 40×62×8 40×62×8 30×47×7

 6007 6205-2RS 6009-2RS 6009-2RS 45×65×8 45×65×8 35×52×10

 32008-RS 30206-RS 6010-2RS 6010-2RS 50×72×8 50×72×8 40×60×10

 32008-RS 30206-RS 6012-2RS 6012-2RS 60×85×10 60×85×10 40×60×10

 32010-RS 32207-RS 6013-2RS 6013-2RS 60×85×8 60×85×8 50×68×8

 32010-RS 32207-RS 6014-2RS 6014-2RS 70×90×10 70×90×10 50×68×8

 30212-RS 30209-RS 6018-2RS 6018-2RS 90×120×12 90×120×12 60×90×10

 N°  
 1 BEA….
 2 BEA….
 3 BEA….
 4 OS….
 5 OS….
 6 STAHOU
 7 STAB14
 8 STAPIN
 9 STAGEA
 10 STASHA
 11 STAS11

     
 

STADIO-63 STADIO-71 STADIO-80 STADIO-90

BEA OS BEA OS BEA OS BEA OS

1 4 16004 19x42x6 6005 24x47x6 6206 30x62x7 6007 35x62x7

2
5

16003
17x30x7

16004
20x35x7

6006
30x47x7

6006
30x47x7

3 6002 6003 6006 6006



2424

DOWNLOAD 
tHe tecHNicAL 
MANuAL frOM 

WWW.MOtiVe.it



final test report gearboxclockwise rotation Watt

G
ea

r-m
ot

or
 W

at
t

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

            found 850 936 939 939 946 955 955 952 949 938

            limite max 847 935 949 949 945 945 945 956 963 957

0

200

400

600

800

1000

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

00

200

400

600

800

1000

counterclockwise rotation Watt

G
ea

r-m
ot

or
 W

at
t

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

           found 855 935 927 927 927 927 927 934 949 932

            limite max 857 936 942 948 944 945 941 957 966 966

0

200

400

600

800

1000

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

00

200

400

600

800

1000

oil leakage test by air pressure
test pressure, millibar 1000

test duration, seconds 16
pressure leakage, millibar 0

0

200

400

600

800

1000

1200

test leakage

millibar

rpm n2

1 2 3 4 5 6 7 8 9 10

rpm n2 141,51 138,25 141,51 138,89 139,53 138,89 141,51 138,25 141,51 138,89

119

129

139

149

159

169

179

1 2 3 4 5 6 7 8 9 10

119119

129

139

149

159

169

179

serial nr: 1212R01412
code: RB252010FSW905description: Robus25-2 i:10 baseSW PAM90B5Final assembly by: OttavianoFinal test by: Ottaviano

you can download each motor or 
gearbox final test report from 
www.motive.it, starting from its 
serial number



Motive s.r.l.

Via Le Ghiselle, 20

25014 Castenedolo (BS) - Italy

Tel.: +39.030.2677087 - Fax: +39.030.2677125

web site: www.motive.it

e-mail: motive@e-motive.it

przedSTawICIeL reGIonaLny

Lo
o

k
S

 G
o
o
d, perFormS BeTTe

r 

inne katalogi:

k
aT

a
Lo

G
 T

eC
h

n
IC

z
n

y 
S

er
II 

B
o

X
 o

TT
 1

3
 r

e
V.

0
6

delphi series 
delphi series 
delphi series asynchronous 

asynchronous 
asynchronous 

three-phase el
three-phase el
three-phase electric motors

ectric motors
ectric motors

ROBUS in-line hROBUS in-line hROBUS in-line helical geaelical geaelical geaRBORBORBORBORBORBORBORBORBORBORBORBOxxx
ROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hROBUS in-line hVARIABLE SPEED D

VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED DRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WIIIIII

ROBUS in-line hROBUS in-line hROBUS in-line h
I
ROBUS in-line hROBUS in-line hROBUS in-line h
I
ROBUS in-line hROBUS in-line hROBUS in-line h
I
ROBUS in-line hROBUS in-line hROBUS in-line h
IIIFFFFFFFFFIIIIIIIII

g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c
g e n e r a l  c a t a l o g u e

a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e
a t a l o g u e




